E-1451

PDFIZ21E6 AR D HNAB T o BiERIEWEBE TORACEEN (HEET M R - i R4 T 1188) PDFIZ21E6 AR R DRNBTY o BFmRIEWEBE ToREESD (T R - BB ]14712185)
ONE-TOUCH FITTINGS COMPACT AIR FITTINGS

D25y FHF (733 A AVINONIT =T 19T 10T () @iz litehli

—Fa1—7 - OVHYyFHFE - AE—R2bO—5—

(® CADF—%74) % % : 53_Fittings (®) CADF—47+/V4 4% : 53_Fittings
W/Oozxa=#*> USCRS o BR L c E N HE [YEREE GI(IHE B R | Fa—7 | AR (BMBTEE| SEREBE BEEAEN BE  [YEERREVIMEE
— a Type | D (@) [ 1~9a|10~50 Type |5+ (mm) | (m) =} (mm) | (mm) (mm) (MPa) | (kg/m) [1~4%&|5~10
4 L 8 [ 236 [ 136 | 82 | 17 | 145 | 430 | 400 5 | B@® 2,090 | 1350
,{ N *ol USCRS | 10 25 16.3 42 20 20.5 490 460 MPUT 1.8 CGER) 1.2 4 +0.1 0.8 0.0017
N + it 12 | 322 19.7 42 24 38 610 570 10 | w@) 3,080 | 2,310
N @FRTREBABAIIWOSICTIHEEB 2SN,
y Order B B
T et & L T
L L m+E Kyra-
D& PBT(RUTFLLFLIAL—R)
= _H— EEN B YRR | VA1 e 3 . X : ZHE AUHMX B YRR (18
| [t USRDS Tpe. TDiP2| A | C |AMEEMmm) | 15 T 00 To~s0 WxAaxy4% JCNL U8 : C3604 (38 Type D Y| A E'h BLYAZ eation) %g) a0
4 {80 32 2| I} 10 M M A M3 [10.7] 55 [M3x05] 092 | 3.9 | 710 | 680
al - s |8 [395]112 - 3 | 200 [ 190 P JCNL |1.8| M5 |104| 7 |M5x0.8| 0.92 | 46 | 610 | 580
— USRDS 10 [ 403112 : 35 | 200 190 247 = 1 [144] 10 | R1/8 | 0.97 59 | 610 | 540
“\ A s |10 | 456136 o 45 | 240 | 220 : = H=
12 | 466 | 136 55 | 240 | 200
MHE PBT(KUTFLLFLTEL—) 10 | 12 | 4661163 38.7 65 | 270 | 250 A ‘
%) A\ —_— -
B=Tn SPo — ®§n—*&gim1wosc;;;;§ ::{é}.;[] DHE #U7oeLs
B A | B |EmEE#mm) | B2 Z : 7 , T T
| Type [ D Y @ [1~ea[10~s0 | paneeea JELL #U3 : C3604 (38) Ty&f' s | A|B|c|H8 BT asanon %g% ﬁgfﬂ a;ﬁ:!éﬁ
— — AESE 2 2 2 2
/ - :{ﬂ}:}ﬂr}j Tz 6 392 13 1326 3 zgg 223 M3|8.5/ 11| 6 | 5.5 [M3x05] 0.83 | 4.0 | 840 | 800
et s o e e \ JELL |rafislafisiol - liots o Tis w0 o
‘ | 0| a7 | 2 312 6 280 | 260 5 o Cads - - -
[@#&E PBT(RUTFLFLIEL—N) 12 | 528 | 225 50.2 8 280 260 f )(;Hbzzﬂ'f
WEERTS59 BSLDS A - ®§ﬂ&§ﬁimwfi;;f;iiﬁ;; @ ‘ %iﬂ
- Dz | A | B1 | Bz |asmiEsa (mme) | R E z L
) 4?4_1 i — _ Type D1 (9 | 1~92 [10~50 M#E RU7aer-
(oY =i = f Sy St i 4 | 6 [383] 16 ] 17 3.2 3 [ 120 [ 110 ] =
/ —-H= BNV IAYRIZAY e _ B ZHEig |hUHMR| C o | B [ YEEEE Y271
6 | 8 [412] 17 [ 185 126 3 [ 130 [ 120 JBUL #U#8 : c3604 (¥3R) AT WX | () | DR (mim) — p-
Bt ‘ B2 BSLDS 130 45 185 21 18.8 5 | 140 | 130 HC Lico__o ) i) (9) |1~42[5~10
10 | 12 [498] 21 [225 31.2 8 | 160 | 150 ; 1. 5 ! : , ]
WHE PBTRYTFL>TLIEL—H) /a JBUL |1.8[17 | 10 |m8x1| 4 | 085 |53 1,150 | 1,070
| =% @OFTHBBAIIWOSICT IR, - |
X VEERIE | VA5 EE i
Type D1 22 & B & G2 3 1~921 [ 10~30 \ ‘
4 618235 9 [12] 92 380 | 360 ~ - A
DSNYL 5715 226 | 366 | 112 | 136 | 114 | 510 | 480 M#E FU7OeL>
OFABEABAGWOSIC C R AL, W1=4 51 . ES | B [VEEEEASNER
JTEL nUsS: caooa(seih) Type [D| A | C | E HHEFEE (mm?) (9) [1~4a/5~10
v M#E PBT(RUTFLLFLTEL—R) \} JTEL (1.8| 87 |73 | 32 0.9 3.9 840 800
. U : C3604 ES =T BUF A ¥EERE Y2518 W -
.5{£$£!1 DSLYL & ,\..%g’:é%ﬁ/n/;}bx/% Type D1 BUE| A B © H i R(PT) | 1~93 | 10~30 W (;
- . |1 |82 [4r5] o | 11 |2 [Ri/8 | 400 | 380
DSLYL 2 [182[445] 9 | 14 | 92 | Ri/4 | 410 | 380
6 | 1 |226] 45 |11.2] 13 | 114 ] R1/8 | 540 | 510 __
OF B EBABWOSITT TR, W51 EZEY D2| A | C| L |sEim EE YEEEH ¥27( ¥
order (1) 4 Type |D1 (g) [1~43]5~10
M scrss e JRDS [1.8] 4 [256] 6 |96 097 | 05 | 710 | 680
15 PG B A B 0~600
@Dewew (@[=m2 |zasmerms “gaemEs [ cowrs } Den
@HE PBTCRUTFLLFLTEL—R) @ % PG00, SREHBHELET, %—mow’a \* 0y FRE
HORFELEZE e =
1 3,5 05 ERE B
| (252 D:INL BIR o2l a8 lcileal el r| x|y [FEREEWHYE EREERE | —10~60C
a Type | D1 | - e 1~93 | 10~30 DHE #7aeL: ERENE | —100kPa~0.8VPa
~ , |6 ]m85] 64 [ 10 [125]105]135] 39 [105] 580 [ 550 - - *RELETE
D N 1 N‘ _ 8 [195] 66 | 10 [145[105[155| 39 [11.5| 660 | 620 PP —— 7 ST TRy T
. g) < ‘ =< | | DUNL 8 |21 | 73 [125]145] 13 [155|465[115| 830 | 790 WAE-Fabo-5 79k T g;it D g SEICICZE _E‘E ﬁl;(g; %; 1§~¥ﬂ 5L1¥Aﬁ
= ® [0 [ 22 [785 125|175 13 [185|465] 13 | 900 | &0 JNL 1aUH : 63604 (35R) -
5 i |2=045 51125 1175 k| At > 1 UNL | 1. |M3[153[114]25.1]276[7.5] 7 [WBx05] 6.1] 3.400] 2,880
N - | 3—D1 ‘ _F_| r 8 | 10 |i2oi]jiediol il ] oM 1§16 a1 I52:5] SN IS0G O /910 y — *“[m5]155]12.4]27.2]30.2[7.5] 8 [M5x08] 9.4 3,200 [ 2,780
RN @F B EBARWOSIC C CRERL A, ‘ -
X (i) W21 (UNL)
-— 8 B YERRG V71 0E AE—kavkO—5 . 05
D2| A | B |B1|B2|C1|Co| P |F1|F2| X | Y 3] — e
XS0 | mwe rercrussLosLos—) Type [D1| el ] i 1~931[10~30 “lo s A e ]
e 4 | 8 |195] 6 | 195205 10 [145]105] 10 [175] 3 |105] 720 | 680 BEERED | dowm mn ool
WrITNE7 DUNLW DUNLW| 6 |10 2 [785] 2 [ 3 [125[175] 13 [ 10 [195] 45 | 2 | 860 | 810 @ EREREA | G AW @
a 8 |12 |245] &7 | 245] 3% [145] 20 | 15 [115] 22 | 51 | 13 | 940 | 900 EEEE1 TS Sl E 10 ()
i QFRERBAINOSITC HRIE A AR & L o
N q- — ouer [ B (e moo A W s =
Y AL =S EXB punLw4 — 8 ~ _cmag | #n - o
R?- . e “ERASKET |~5~60C MAE PBTCRUTFLEFLIEL—H) . ims 0 12 14 16"
b, > i 2045 —RAREA | —ine 2-oen@
% G || l6-Ds _ P Order [ @ |-[wy] Delivery | 2 | BEWE naxy [Eron | B
P i EXW JCNL18 — M5 H#E T ST
X o = _;t Zx-i %g_ggg;@ meo;o): PTP134 _HEE | BE | BEMD  @FFMBBAKWOSICTIREGL,
‘ i ®Ab—TAGIALL LT BT S 74— 2810
[RohiS 10 MME PBTCRUTFLFLIEL—R) @A~ 7AL;371<LJJ:Z1EH%E17¢.U} 1?540F‘1

e
e

H-1452



